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A computer is a _____________ device

 electrical

 electronic

 electro-mechanical

 mechanical

A byte contains _______ bits

 7

 8

 6

 16

Which of these is not a direct sub-division of the Computing System

Separate answers with space or comma

 Users

 Computer Network

 Computer System

 Environment

1 Kilobyte is equal to _________________ bytes

1024

One of these is not an example of an expert Computer user

 Programmer

 Data Analyst

 Typist

 Software Engineer

A bit is an acronym for ______
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full meaning

Binary digit

One Terabyte is equals is approximately equal to 10^X bytes; where ^ means raised to the power
of. What is X?

12

Which of the following holds the ROM, CPU, RAM and expansion cards

 Hard disk

 Cache memory

 Mother board

 None of the above

The full meaning of MICR is

Magnetic Ink Character Recognition

Integrated Circuit chips used in computers are usually made of

 Lead

 Germanium

 Gold

 Silicon
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